
Solve the number 
crossword clues using a 
combination of the 
information in the clue and 
the answers to clues 
already solved.

All squares contain a single 
digit (from 0 to 9).
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ACROSS
1.   10 Across x 3
3.   A square number
5.   1 Across + 102  - 3
6.   A multiple of 5
8.   (9 Down x 10) + 33 

10.  102 + 32

11.  (1 Across x 8) - 2

DOWN
2.   12 x 23
3.   103+ 63

4.   A square number
6.   3 Down + 1 Across - 52

7.   (6 Down x 4) - (7 x 40) 
9.  7 Down / 8

9

ACROSS
1.   71 x 4
4.   (3 Down + 5) x 2
5.   123+62  

7.   (4 Across / 10) - 102 

9.  2 Down x 3
10.  8 x 10 x 11

DOWN
1.   1 Across - (5 Across / 3)
2.   9 Across / 3
3.   4 x 10 Across
6.   1 Across + 310
7.   The digits are 
consecutive numbers 
8.  (7 Across - 503) x 5
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These are alternative clues 
for the puzzles on the first 
page. The clues make the 
puzzles easier for younger 
puzzle solvers.

Extras Puzzle 1
ACROSS
1.   10 Across x 3
3.   4 x 4
5.   1 Across + 97
6.   5 x 33
8.   (9 Down x 10) + 27 
10.  100 + 9
11.  (1 Across x 8) - 2

DOWN
2.   12 x 23
3.   1000 + 216
4.   3 Across x 4
6.   3 Down + 1 Across - 25
7.   (6 Down x 4) - (7 x 40) 
9.  7 Down / 8

Puzzle 2
DOWN
1.   130 + 101
2.   255 + 224
3.   4 x 10 x 8 x 11
6.   1 Across + 310
7.   The digits are 
consecutive numbers 
8.  51 x 2 x 5

ACROSS
1.   71 x 4
4.   (3 Down + 5) x 2
5.   123+36 
7.   (4 Across / 10) - 100 
9.  2 Down x 3
10.  8 x 10 x 11
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